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 text the  d =  
p(d|) = [0.5*p(“text”|d) + 0.5*0.1]  
                 x [0.5*p(“the”|d) + 0.5*0.9] 

 p(“text”|d)=0.9    >>     p(“the”|d) =0.1 ! 

 text the 
the the 
the …the  

d’ =     x [0.5*p(“the”|d) + 0.5*0.9] 

p(d’|) = [0.5*p(“text”|d) + 0.5*0.1]  
                 x [0.5*p(“the”|d) + 0.5*0.9] 

   x [0.5*p(“the”|d) + 0.5*0.9] 

   x [0.5*p(“the”|d) + 0.5*0.9] 

… 

What’s the optimal solution now?  p(“the”|d) > 0.1? or p(“the”|d)  < 0.1?    

Behavior 2: high frequency words get higher  p(w|d)  

What if we increase p(B)?  


